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2. An educational testing service has designed a new test of mechanical aptitude. Scares on this test are 4
normally distributed with y = 400 and o = 60, L . )
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a) What score would you need to be in the top 15%2 qéa s while the standard deviation of P2 is 10 with a mean of 17. What can be said about the percentage

b) What score represents the 45™ percentile? qq ‘l"é observations falling within one standard deviation of the mean for each population?
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digtribution with 4 = 20 ond a = 207 \A distribution of test scores i$ not symmetric. What is the best estimate of the 2-score of the third
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\ In a certain large population, 40% of households have a total annual income of at least $70.000. A simple
random sample of 4 of these households is selected. What is the probability that 2 or fewer of the

Thirty students were asked at random to pick a nuMBEF Trom zero to twenty (inclusive) Here are the
its: households in the survey have an annual income of at least $70,000.
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12 2 15 12 12. A certain type of remote-contral car has a fully charged battery at the time of purchase. The

distribution of running times of cars of this type, before they require recharging of the battery for the
first time of ter its period of initial use, is approximately normal with a mean of 80 minutes and a
standard deviation of 2.5 minutes. The shaded area in the figure below represents what probability?

Assess the normality.

5. The following is the list reflects the number of children of the presidents of the United States up
through 6earge W. Bush.
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5 5 15. Big Town Fisheries recently stocked a new lake in a city park with 2.000 fish of various sizes. The
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inches while the mean length of the fish is 8 inches.

@) Assess the normality of the dota for the boxplat below, Wrrte no more than a sentence or two, a. Compute the prabability that a random fish will have a length less then 7.75 inches.
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pregnancies from conception to birth varies according to a distribution t J
17. The length of hum'c':‘ with m;:’zt:: ':ays n;: standard deviation 16 days. Draw and label a distribution.
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between 250 and 266 days?

e 1f a waman is claiming her pregnancy is lasting longer than 90% of pregnancies, how long
might her pregnancy last?
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